Riemann Sum Worksheet				Name:__________________________

The rate that people are entering a local office is given below in people/hour.  Use the table to answer questions 1-3.
	Time (hours)
	0
	1
	3
	4
	7

	r ‘ (t)   ppl/hr
	12
	7
	3
	5
	8



1. Use a left Riemann sum with 4 subintervals to approximate the total number of people entering the office over the interval .





2. Use a right Riemann sum with 4 subintervals to approximate the total number of people entering the office over the interval .






3. Use a trapezoidal approximation with 4 subintervals to approximate the total number of people entering the office over the interval .


Gasoline is being pumped into a car.  The rate that the gas is being pumped is given in the table below at selected times (seconds).  Use the table to answer questions 4-6.
	Time (sec)
	0
	4
	8
	12
	16
	20
	24

	g ‘ (t)  gal/sec
	0
	.34
	.42
	.56
	.45
	.34
	.22



4.  Use a right Riemann Sum with 3 subintervals to approximate the total gallons of gasoline pumped in the car over the 24 seconds.





5. Use a midpoint Riemann Sum with 3 subintervals to approximate the total gallons of gasoline pumped in the car over the 24 seconds.






6. [bookmark: _GoBack]Use a left Riemann Sum approximation with 3 subintervals to approximate the total gallons of gasoline pumped in the car over the 24 seconds.

